2015 I FIMNERR | FE | PR ) 2 P
M EZ (L A
HAA, T
sy | TN it
. 2015 4E7 A 15 H D ARFEIAAT]
aRER H ~
AR 1 RR wE | mmasssEn cao
/100
RO | PR 1B - L v PR FTAG 3 B T 5 eI

DT OFMNCEZ 2 I,

ZEZIIETRE

BffIcEH S 23V, FHREMEEEIEADIRL, AERFICERL T, BodH2 b0

HTHALE EDICEZ BRI (BB, 1.8 20 DEMEFIF 15 HEBZT, 529924 ELHUL 2HEHZ D), £/, KAl

ETHBERREALZLZI WV,

7I A FOEIZ Ny, =602x 102 £33, £/7, ZFTHIZR=831J K lmol! £33, HHE

THNE, ROFETEEZHWEL, H=1.0, C=12.0, O=16.0

(R : RRE 1,7 OB 1 EFFICDE3 S (TD 37T 458), BE2~6 F&/IBICODEs &, HES

315 &I D)

L UFosEosm  cEavsmnemsis oy 4 SRR 66 s KRB0 g, —MALIFKT0 g £ 27°CICE

METEAARI W,

| EIOREPETECVAMBEE 1 |0, 2
AL LOTEED 6 TETVAMBEL 2 |25,
|1 ek U R 0 E 0 R 3 WE ST

BEBbB, COMEWEELOE 3 |rn3,

TEROMEIE, FTHNOBTORCRESD, OREFT
B0, HIHNOBTETETOROME 4 e
IR, WUTEHETY 4 |0RAEBET, DFDUETO

BHREBFTHB, 20X5aEFEE0E 5 |c
HBEND,

<PRERE>

7AW, A (LA, v, R, T ik

d. TR, b EEE, k. BTR 2. RFEE,
rooRfk, 2. BRIk

CKEB{EF UYL (RE 400 2 53) 240 g 2K (TE
1807 3) AL T1.00 L & LARKOHERZ 1.200
kg THo7z, LT ORICHIET 3HTEZ BRIV, &E,
AR EL 2 L,

(a) B (g-ecm™3) ZRDEI WV,

(b) KT bV Y LOREEIVEERRKDE I,

(c) Kt bV D LOBERBIREZ KD I,

(d) K+ YUY LDOEREENREZRKDE I,

(e) KEE(LF B U DY LDENGEEZRDZZ W,

3. C3Hg+ Oyg— COs+ H>O

a) ERo | stz an, a8y CoHg 0
FERIRBE DAL POEAZ 8 L 7 0,

(b) 7maNr 220 g 7a N v FiEIEGE ENE TR,

(c) 7RISy 2.20 g DITEAIABET 2 &K g 4 U T D,

AN SE X 2B 25, @FX

. £ D 0.500 mol /L KIER DEREE o 1% 0.00737 TH 3, &

WT 40 L OB AN,

(a) é}f%*@&é I/\o
(b) 2H% 8.0 x 10° Pa lZF 212 F " CIZ BT IUX R W22,

RO TR E B E
T3, DTOMICEZ I W, 2L, X DFEFREIZ=8.0
E95,

(a) )8 X OHNAETD 1 ADEZX0.40 nm TH 3, X
DR T2 % nm BT THRD X,

(b) X Of§EEE (g/cm3) 2K X,

i

Here Bz R &

 DTFoXEoEM ey sEeEA S,

7VEZT DRMEREEZ S,
Ne + 3H, — 2NHj
COXSIL, HlmEEHTAODES S DT ICHET G

2 1 szns, e s 2 oEmEs
D, 7YEZTOWKEMGDBICE, FHE 3 [<T3

E:J:I/‘o

. pH=13 O/KEE{t.F + U L/KER 50 mL & pH=1 DL

250 mL ZRA L%, KZIMZT1000 mLiIcL%E, 20
KR D pH 2 RKD 7 X\,



FHET 4

R <4

T ? 4 g -
7 ’ i
ATHE
/. 200x10°C9) _ /. 20
/.00 x10%Cent) /20 (9/ent') (9/em’)
AT
24(02?9}/ )S=5.oacrnw€)
«o. mol 6.00
= . (/”'td'e
7.00 (L) sl /4‘) (mol /L. )
AT
240(9) 20.0
200¢q) <100= 20.0(7 ) (7 )
AT
6.00 (mef) 6.25
= 6. 25 (met/ )
/200(9)—24009) R9 of
) mtfhy)
ATE
£.00 (mof)
% 00 (mal )+ 260 (D) ~0.10) | 0101
kil i 8 0(q/mal)
i a3 He + b0, —> ¢ CO, + d H:0 7 B+
| (5a) @3a) ¢a)
Ci3a=C ~ (:2b=20+d b=ba | 1| 3
H: 8a=2d =6a+4a
d =40 =100 71 ¥
EIN = MW(C3H9):3’< {2\0 T g?</~0 =¢¢-0(’%ﬂ )
sh 80

2:20 « £ x/8.0=3.60

440




e Niotal = /.5 + 4.0 ths= 7~
Mach)= 44 ;T_“éﬂ_,/gfqm e

M., = V
€2 440 =(. & ” Q\OXE’\o’/?LiOO
MW‘CHz) =20 %0 x(073
ﬂH __:2_5__40 — L/x?(?éX/OS—
chco) 28.0 = Bl 2™ $.0x(0"
ém‘ 20 15 (Fa )
$0x(0°CP) _ 8.0x10°CP)
200K ) LK)
X=HUEO(K)
§80—~273 =207 y. 4
C)
AT ={3x0.40
= 0./73X

b &

5 [0
d §.02X(0%3 X .
(0.40 xt67x10*)}

=0.¢4/ 6

0. 42 ( g/cm“’,)




g
CH3co0H=— CH3C00™+ H”

0.§00 0 o
0 .Co0(~x) o0.§000¢ O.Soo(
0.500 3

‘ = 0. 6008
0. >y
W(/ ) ,___0\5-00;<0\0073/7e

-z 7%;(/5?
2. 72x105
o/t )
L a] B 2| e YT |2
o AMN=0.0250—-0.005)
NaQtt . =0.02.00 (mol )=M
I.-H+J :( O—t [H‘\'J*"'
i 0.0200 (mot/;)
>L0HJ=10 =
Mo =0-(mot/i)x0 050(L)  PH=2—gp3
=0.0050 (mot) = (570
Ha
[H'T= (6 =0.1 "

-

Npp= 0.4 (Mod/L) 0250 (L)
=0.0250 (must) (.70




